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SSC_SELECTION POST_VII&XI

1. 4p3 + 14p + 6 &1 98 w19 sd HIRY, s AT 6 il &1 wear 602p0p, 9 & guid: fawrsg & |
(A) 22(B) 24(C) 26(D) 28
Ans. B
2. Ifg 8-3iai arell WeAm 7y9745x2, 72 ¥ fovrsd &, A1 x & 3if¥wad a9 & fow (2x — y) & 941
fha=T grm?
(A) 18(B) 16(C) 11(D) 14
Ans. B

3. 11-3i®i arell U & 765y88436x6 afc 72 ¥ vy g, 8iR x &1 A iffdad A of, af (x — y)
&1 719 fbd=T BF?

(A) 4(B) 5(C) 6(D) 8

Ans. D

4, afg e 3wl o dwer 9534x37y, 24 4§ v §, @ x & Fe¥ g9 A9 @ foriw (3X +y) &7 A @
BRI

(A) 32(B) 30(C) 21(D) 24

Ans. B

5. 69 QST 4- 3ipt & Ha gof. IT 3N 3 I ATy 4- 3(i &I Fad BIST &A1 BT I ST DY |
(A) 11004(B) 10998(C) 11000(D) 10995

Ans. B

6. afe At i@l @ e 385x3678y, 72 & fawrsy &, @1 (Y - X) &1 A &1 812

(A) 5(B) 4(C) 3(D) 2

Ans. C

7.51462 & Npedq a8 T S BINTY, ST 8 | favrsyg 2 |

(A) 51480(B) 51468(C) 51456(D) 51464

Ans. D

8. af¥ o - st e 1039mB37N, 72 % i o 2 A Lo @t AT s R

(A) 2(B) 6(C) 4D) 7

Ans. D

9. IF I TSI IR T BII AR BT ANT M HifvTe g, Fvaar 8130k36 5 K & e R @9 4 I8
T 8 ¥ favre & Ao § |

(A) 12(B) 8(C) 9(D) 10
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Ans. D

10. afx N = (307)%8 + (524)2° 2, a N &1 57 it a1 2rm?

(A) 6(B) 3(C) 5(D) 4

Ans. C

11. afe ui= sfei @ w=@r 570 xy, 2319 v &, a1 (2x — y) &1 9149 F1 87

(A) 7(B) 6(C) 3(D) 5

Ans. C

12. afe va dw=ar N, 39 favyrsy ©, o fFafeRad o & 19 a1 fadey I g?

(A) (N +6), 6 ¥ forsa 2(B) (N + 2), 3% fawrssr &

(C) (N+12), 3% fawrsw 2(D) N2, 6 % fawrsg &

Ans. C

13. % A& Bl 13 ¥ OIS @R TR Y% 6 UTW BT & | ST AT @ a¥ Dl 13 3 frford v ©)
U 9%l AT B2

(A) 10(B) 9(C) 11(D) 12

Ans. A

14. ababab & ©U B BE—3ih] B AT THAT ——— ¥ AT BT 2

(A) 10001(B) 11001(C) 11111(D) 10101

Ans. D

15. "ig—simra dw@r 602xy afs 7 @ik 33 ¥ forsw & @ (8x — 3y) &1 A1 a1 8F1?
(A) 56(B) 61(C) 59(D) 69

Ans. D

16. g8 BIEI W BICI AT ST HISTY, FORT 1234 § Siled TR UI AT 45 9 AamT 87 |

(A) 8(B) 16(C) 26(D) 1

Ans. C

17. /2p? + 4 o1 98 w9 oa iy, fvaa forg 6 sial @t e 52p304, 11 & guia-fawrsa &1 |
(A) 5(B) 4(C) 8(D) 6

Ans. D

18. 5 i @ 98 991 W IS W& S BT, St 12 J TR 2 |

(A) 99998(B) 99999(C) 99988(D) 99996

Ans. D

19. 3fe 321a9246b ve i Wear & W 72 9 fawrsy 8, a1 a? — b? &1 91 9id B |

(A) 12(B) 10(C) 8(D) 9

Ans. D

20. s 341k145k # kK & ) wrfad | &1 AT STd BIfTe dife dwer 39 faarsa @
(A) 15(B) 18(C) 12(D) 9

Ans. B

21. TR 3iPBi DI 98 BICI W BIC] F&AT A DY, S AT fH=dT i & qIEvra & 3Dl 0, 2, 3, 4, 6, 8 BT
STIRT D T3 T 81 AR 8 I fawrsa &1 |




(A) 2408(B) 2034(C) 3024(D) 2048
Ans. D

22. 34581 & ey a8 =T S BN, S 9 W favrsg 2

(A) 34580(B) 34582(C) 34578(D) 34589

Ans. C

23. afe \war 583ada, 6 9 fovrsa g, df a & a1 AWIfad HIE1 &1 AT a1 87

(A) 10(B) 8(C) 12(D) 14

Ans. A

24. K &1 98 Afddan A S1d BT, e fog 6 ofel @ dwr 450k1k, 3 & gofa:  farwr &1 |
(A) 6(B) 7(C) 9(D) 8

Ans. B

25. V3k3 + 4 &1 59 59 UBR o HIY B 6 - ey dwar 310k0k, 6 9 fawrsa &1 |

(A) 12(B) 18(C) 16(D) 14

Ans. D

26. < 9314k8025 # k &1 A S1a @Iy arfe ag e 11 9 faursa 8|

(A) 6(B) 5(C) 2(D) 4

Ans. C

27. 98 BIA A BIE AT 31d Hiforg, Y 3029 # S W U | 18 | yuid: favreg &7 |
(A) 13(B) 9(C) 22(D) 4

Ans. A

28. 3fx 8- 3w wwar 63k4021p, 72 % fovrsg 7, ar (5K - 3p) &1 a4 S1d BIfTg |

(A) 2(B) -7(C) 7(D) -2

Ans. C

29. 3 3fpl B T& TSI I TSI AT ST BINY, ST 997 fo=iy i & <rewrg © 0, 1, 2, 3, 4, 5, 3l &1 ST
RS g8 T3 8 3R 3 s &1 |

(A) 532(B) 510(C) 531(D) 513

Ans. C

30. afe ard il arell W 7x634y2, 88 & favrsd &, @l Yy & Had & A & oIy X 3R Y & HHl Bl AR
T BITT?

(A) 2(B) 4(C) 6(D) 8

Ans. A

31. afe 5-af@r e 284xy, 3 iR 77 garT fovrsa g, a1 (8x — y) &1 A9 &1 8R1?

(A) 5(B) 9(C) 7 (D) 4

Ans. A

32. 9- 3fol arell U Hwr 4856327xy 9% fawrsd &, IR x —y =6 21 (J4x + 2y &1 94 foban
27

(A) 3(B) 7(C) 4(D) 6

Ans. D




33. 9 Ue A1 N H1 6 3 faMifid frar oimar R, O 9vwe ®, o ewwd 3ura w1t 81 (n* +nd +n? +
5n) &I 6 9 i &= IR I fhd=r grm?

(A) 3(B) 0(C) 1(D) 2

Ans. B

34. afy 9-3ic & e 8698x138y,72 % fawrey €, @ /3x +y &1 AM A BRI |
(A) 4(B) 7(C) 5(D) 6

Ans. C

35. FfeRad # & @9 A v, 11 9 fovrsg =8 87

(A) 8050314052(B) 9857316425(C) 7985314625(D) 8957314652

Ans. C

36. 299 ik 501 & 9= & - yorie 4.1 10 9 oy 87

(A) 56(B) 61(C) 51(D) 72

Ans. B

37. <9 (218 = 1) &1 9 fawifsra fasan e 2, o e fha=m grm?

(A) 2(B) 8(C) 1(D) 0

Ans. D

38. afe 9 siwr @1 W 9843x678y, 72 % favrsy B, @ (x2 + y2 + xy) &1 A4 A BN |
(A) 61(B) 43(C) 29(D) 41

Ans. A

39. aft 8A5146B te Wi wiwm & Wit 88 % fawrew €, a1 A® @1 A s N |

(A) 64(B) 81(C) 90(D) 121

Ans. B

40. fs dr= 3iwl @ dw@r 235xy, 3, 7 3R 11 9 a9 &, ar (X-Y) &1 34 S1d o |

(A) 5(B) 2(C) 4(D) 6

Ans. C

41. afe ara fel o dwnr 7x5345y, 110 & forsa &, a1 (X+5y) &1 719 &1 grm?

(A) 9(B) 10(C) 7(D) 8

Ans. D

42, afe 11 st & Fer 79x6402087y, 72 ¥ fOvsg 8, @ x & |aW BIC 919 & foig,(x + 2y) &1 A4
ST BN |

(A) 2(B) 6(C) 9(D) 4

Ans. D

43. If a nine-digit number 85345x61y is divisible by 72, then the value of (2x -y) is:
(A) 7(B) 9(C) 6(D) 8

Ans. D

44. 1f the numbers 556743A57B is divisible by 8 and 9, then fin 2A - B.

(A) 1(B) 3(C)6(D) 0

Ans. C




45. afy 11 siet @ wem 89x6402087y, 72 % frrsa &, @1 (2x — y) @1 A9 1T @Y |

(A) 13(B) 15(C) 14(D) 16

Ans. C

46. 500 ¥ 550 @ drg (QHf &1 o) U fohde S € o T a1 39 o € ik 9 & 11 9 favrsy
27

(A) 28(B) 18(C) 30(D) 11

Ans. C

47. 3 9 3l I U T 45069x4y8, 449 W &, Al y & AqH A & o8 (x — 2y) &1 49 @1
BTT?

(A) 3(B) 4(C) 1(D) 0

Ans. A

48. IfT x IR y & &0 Fwifdd A9 @ forg 7- 8fd @1 e wwr 53345xy,40 3 favrsg &1, ar (2x —
5y) @1 U& A4 fdha-r 27?

(A) 9(B) 12(C) 8(D) 10

Ans. B

49. IfT 7-3 & F=a 49x29y6, 72 | ANy &1, Al x R y & HeH 98 A & ¢ (x + 2y) BT A9
faaAr grm?

(A) 12(B) 25(C) 22(D) 18

Ans. C

50. ARk 10-3ifra e 96530y15x8, 72 AT Rwred 3, o X & s =1 @ fore (3x — 7y) &
A QAT BETT?

(A) 4(B) 3(C) 5(D) 8

Ans. A

51. 59 Ud g QI N @7 9 garT fifia fbar siar €, a1 ewwar 4 vear 21 w19 (303 + 2n? + 5n)
®I 9 garT fawrfora fear ST & 1 AVhel @7 R1?

(A) 3(B) 8(C) 1(D) 2

Ans. C

52. afy 8-aidt @ W 7x5739y2, 88 ¥ frew £, a1 (4x + 3y) BT IR g1 WG AN S B |
(A) 51(B) 45(C) 42(D) 54

Ans. A

53. afg 9 sfwi o1 Awar 957x5y623, 33 & fawrsy B, A1 (X + Y + Z) &1 Afbad AW &1 B

(A) 27(B) 26(C) 24(D) 25

Ans. D

54. 3 sf@r | abe, bea ik cab &1 anT 9ed ——— q fa9rsg 8 |

(A) 35(B) 41(C) 31(D) 37

Ans. D

55. afs 8 aiml @ wem 98x423y4,72 & favrsa 8, @l y @ s1iddwad A9 @ forw (5x + 3y — xy) &1
A AT BN |




(A) 3(B) 6(C) 5(D) 9
Ans. A
56. 6 3l &1 T 439xy5, 125 ¥ fvrsg 2| 6 3l &I VAT fhal Ay \vd 57
(A) 5(B) 4(C) 3(D) 2
Ans. B
57. afe 9-sfwi o va wen 609a5b9c9, 99 & fawrsg €, @ (a+ b +¢) &1 AN ————— EIENENRS
(A) 16(B) 25(C) 7(D) 26
Ans. A
58. 4-3imra ww=r X92x, 36 ¥ sy 7 &R 7-3idia s y569z04, 11 % favrsg 21 (Y + 2) & siffiean
A & forg, (2X +y + 2) &1 949 Far 87
(A) 22(B) 31(C) 33(D) 26
Ans. B
59. afe 7 i@l @ dwm 612x97y, 72 ¥ fav &, @ik 6 3idl & 9w 342178, 11 < favrsw g, ar
(x =2y + 3z) &1 99 &
(A) 2(B) 6(C) 7(D) 5
Ans. A
60. afs 6 sl &1 W& 57zxy8 7,11 iR 134 6 uxd o favrsy g, a1 (x — 2y + z) &1 99 &
(A) 1(B) 2(C) -2(D) -1
Ans. D
61. afx 9-siwt @ W 4x92y6588 99(x + y < 10) ¥ woie: frsw &, @ 2(y — x) @7 A 7 &2
(A) -2(B) 1(C) -1(D) 2
Ans. D
62. afs 4-3fdr 1 UHh A& 273x, 12 ¥ 09T & 3R 7-3idi @ te @ y854206, 11 & fawrsy &, @t
(x +y + z) &1 99 T 8P
(A) 6(B) 20(C) 18(D) 12
Ans. B
63. Al 6-3fi arell ¥ 6x7y52, it 7, 11 3k 139 fawrsy &, @ {(y + 22) + x} &1 &9 S BN |
(A) 2(B) 3(C) 4(D) 1
Ans. C
64. afe 8-3imi arell dwam P471203Q, 18 ¥ fovrsg 8, @ P 3R Q @ &He: |a¥ BIC
A S D |
(A) 8 3k 2(B) 0 aik 2(C) 4 ek 6(D) 1 3k 0
Ans. D
65. 3R 6 3l & w=T 479xyz, 7,11 iR 13 ¥ ¢ oRe fawrsg &1 a1 &fd x,y 3R
Z T UGS fhar grm?
(A) 479(B) 252(C) 1001(D) 794
Ans. B
66. afe 14331433 x 1423 x 1425 &1 12 & 97 a7 S0l &, o 99w faha=r g8rm?




(A) 2(B) 0(C) 1(D) 3
Ans. D
67. W9 T fAf¥ad W o 52 3 9rT foar 9ren 8, 99k 49 ST B | 59 S9! T

B 13 9T fear 97 8, a5 99het x 3mar €1 V5x — 1 &7 A fhaer grm?

(A) 6(B) 11(C) 7(D) 8

Ans. C

68. @ 200 &1 g=THS qoiis x & W7 f&am S &, ar Avhe 12 U B & | 59 Refd

H x & fbas a9 dva g7

(A) 6(B) 3(C) 8(D) 2

Ans. B

69. v g9 4°° + 750 @7 65 W 9NT <q &, @ ATheT fhar BNIT?

(A) 0(B) 2(C) 1(D) 3

Ans. A

70. ©E 3% drell Tb G 4ABB8A, IR—3 id A iR B & foflg 33 &1 T[0T & |
foforRad o & &9 A8k B & Twifag =19 & daa 8?

(A)A=6,B=2(B)A=3,B=2(C)A=6,B=3(D)A=3,B=6

Ans. C

71. 91 ¥ 9 o901 A 88 ¥ favrsy 82

(A) 4987316(B) 4978136(C) 4897136(D) 4987136

Ans. D

72. 791§ 9 S0 A= 99 ¥ farsy 872

(A) 2767149(B) 2776149(C) 2767419(D) 2776419

Ans. A

73. 3R 9 3@l & AT 43x1145y2, 88 & w1y &1, AT Y @ Sff&dwad A1 @ [y (2X - )
BT A9 fba=T Bm?

(A) 1(B) 5(C) 0(D) -1

Ans. A

74, f=foRaa 5 9 59 (10 p + q)(10qg + p) & U 4 ol &1 51 FHar 8, S8l
p 3R q e &7

(A) 1729(B) 1500(C) 1456(D) 1205

Ans. A

75. foa gus yigfas wwa (30)* @1 fauses 82

(A) 124(B) 123(C) 122(D) 125

Ans. D

76. 5 3ipi @1 W= 457xy, afe 3, 78R 119 favrsa =, @ (2x + 5y) &1 A9 fasae
BRIT?

(A) 46(B) 21(C) 48(D) 17




Ans. A
77. 10-3iwi arelt dwar 90457416xy, 9 & forsa g, sk x —y = 3 21 (5x + 3y)
BT A AT DN |
(A) 33(B) 48(C) 39(D) 29
Ans. C
78. ufe wwar 2A19281870B, wwam 8 3k 11 s & fawrsy 8, oief A iR B tdha—sia
a1l quiies &, 1 A IR B & A9 S N |
(A)A=3,B=4(B)A=4,B=3(C)A=3,B=6(D)A=4,B=6
Ans. A
79. f # 9 fpa W] 3 ¥ fovrsy € wifes 9 9 fawrsy =€ 27
2142, 3423, 2430, 4521, 8433, 3258
(A) 5(B) 2(C) 4(D) 3
Ans. B
80. s | 556743A57B, < 8 &k 9 W fawrsy = dr A-B &1 #19 S1d & |
(A) 2(B) 0(C) 1(D) 3
Ans. B
81. R UHh gIHAD QUlich ‘n’ bl 7 F AN QAT Sl €, d AYHA 4 AT 2 | R “5n’ &l
73 9T & SU a1 9% fdhadr gRm?
(A) 5(B) 6(C) 3(D) 4
Ans. B
82. afe 9 aiwl @ e 957x5y623, 33 W fawrsy &, @l (X + Y + Z) &1 (fedHaq A &=
BRIT?
(A) 27(B) 26(C) 24(D) 25Ans. D
83. 33f@mr st abe, bea @ik cab &1 AT Wedd ——— | fawrsy gRm |
(A) 35(B) 41(C) 31(D) 37Ans. D
84. afe 8 sidt & wwar 98x423y4, 72 ¥ fawrsd B, 1 y & 3w A9 & forw
(5x + 3y — xy) &1 94 A1 BN |
(A) 3(B) 6(C) 5(D) 9
Ans. A
85. 6 3@l &1 w=r 439xy5, 125 | g 2| 6 3l &I VAT fhal Ay §9d &7
(A) 5(B) 4(C) 3(D) 2Ans. B
86. afx 9-aic} % v W 609a5h9c9, 99 @ Rwrea &, i (a + b + ¢) B AH ————
® W 2
(A) 16(B) 25(C) 7(D) 26Ans. A
87. 4-3tara i x92x, 36 ¥ sy & &R 7-3fdra e y569z04, 11 ¥ favrsa 2|
(y + 2) & sfrawan a9 & forg, (2x + y + z) &1 A9 F1 272
(A) 22(B) 31(C) 33(D) 26Ans. B
88. afg 7 3l & w=m 612x97y,72 4 favrsd 2, 3R 6 3fdl &1 = 342178, 11 %




frrsg 8, @ (x — 2y + 3z) &1 99 &
(A) 2(B) 6(C) 7(D) 5
Ans. A
89. ufx 6 fwl &1 Fwr 57zxy8 7,118 13 & s ¥ fawrsy g, a1 (x — 2y + Z) &1 79 &
(A) 1(B) 2(C) -2(D) -1
Ans. D



